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Gibb's module is a lype of out!El which ensures

(2) constant discharge evenif the waler levels
in the supply channel and wates course
fluctuate

(b) variable discharge as per the nead

{c) constant discharge inlo the water course .

when the water levels in the supply channel
vary

{d) conslantdischarge for varying water levels
in the yealer coursa {or a given waler fevelin
the supply channel.

Match List-1 {Type of canal (alt) with LIst-1l
{Energy dissipating device) and selecl the
correcl answer using the codes given below the
lists:

List-1

Trapezoidal notch

Straight glacis fall

Sarda type fall

Well fall

List-ll

Lined cislorn fall

Yater cushion

Turbulence ol impacting jet

. Forced hydraulic jump
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The furclions of a head regulalor are:

3. To requlaie supplies entering the olf-lake
channel.
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Irrigation Engineering

Canal Regulation Work

2 Tocontral silt entry to off-lake channe!.

3. TJoserve asa meler lo measure discharge,

4. Yo shul of supply in ofl-lake channel vhen
notrequired.

The correct answer is

(@) 1,2and3 by 1.3andd

(¢) 2.3and4 {d) All of these

A cross reguiator helps in

ta) increasing supply in the parent channel
dovmstream.

{b) increasing supply inthe clltaking channe’.

{c} increasing waler deplh inthe parenicanal,
upslream.

{d) Bolh(b)and({c)

Match List-1 (Contra! structures) with Lisi-Il
{Functions of the control slructures) and select
(he correcl answar using the codas given halow
the lists:

List-1

Canaldrop

Canalescape

Canal cross-requlatar

Canal oullels

List-Il

Control of tlow depth

Control of bed grada

Canural of full supply level

. Conlrcl ol discharge

The correctmalch is

Codes:

A B CD
@ 2 3 4 1
B 3 2 1 4
€@ 2 3 1 4
@ 3 2 4
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in verlical type fall, \he energy fall is achieved
by

(a) alree hydrautic jump.

(b} ahydraulic jump assisled by balfles.

(c) friclion blocks only.

(d} awaler cushion,

The loliowing struciure serves the purpose of a
‘safely valve’ Jor a canal;

{a) headregulator (b) cross regulator

{c) canalescape {d) canaliall

The Adjustable Proporlibnal Module (APM)isa

(a) maodular outlat

(b} semi-modular outlet
{c) non-modularoutlel

(d) is anopen flume oullet

Wihichis of the fallowing are valid for a slanding
wave (lume used lor metering purposes?

1. Lowmadular limit

2. Lowenergyloss

3. Hydraulic jump at down stream of Ihroal
@ Only1 (b} 2anc 3

() tand3 (d) All ol the above

Match List-l {(Oullet) with List-1l {Flexibility) and
select the correct answer using lho codes given
below Ihe lists:
List- List-1l
A. Modularoultet 1. <1
B. Properional outlet 2. »1
C. Hyper propotiionaloutlel 3. Zero
0. Sub-proportionaloultet 4, Unity

A B C D
& 3 4 2 1
) 3 4 1 2
) 3 2 4
d 4 3 2 1

Match List-l {Term) with List-1l {Delinition) and
selecl the correct answer using the codes given
below lhe kists:

List-l
A, Flexibility
B. Selting

Tz

Q.13

Q.14

Q.15

Sensilivily

Channelindex

List-lt

1. Depthof Ihe crestiave! of outlet belovs FSL
to full supply deplh of the distribulary
channel.

2. Rale of change of discharge of an outlet {0
the rale of change of discharge in ihe
distributary channel.

3. Raleof change of discharge in the channel
tothe rate ol change of depthof the channel.

4, Rale ol change of discharge of anaullet to

the rale of change of waler surface (svel of

Lo

tha distributary channel.
Cades: .
A B CD
@ 2 4 1 3
) 1 2 4 3
© 2 1 3 4
@ 2 1 4 3

A goad irrigalion modula is the one, which
{a} draws heavy silt from the canal,

(b) draws clear waler from the canal.

(c} draws fair share of sill from the canal,
{d) ‘None of ihe above.

The rate of change of discharge through an
irrigation oullet becomes equal lo the rate of
change ol water ¢lepth in the channel, when its
{a) flexibilily is 1.

{b) sensitivily is 1.

{¢) setling is 1.

(d) sensitivily is zero.

A tully modulas canal outiel has its

{a) sensitivity = 1, and liexibility = 1
(b) sensilivity = 1. and fioxibility = 0
{c) sepsil(vi!y = 0, and llexibility = |
(d) sensilivily = 0, and flexibifity = 0

Acylinder or well {all is sultable and economical
for

(a) Highdischarges and high drops

{L) Highdischarges and low drops

{c)- Low discharges and high drops

(d) Lowdischarges and low drops

a6

Q.17

Q.18

Q.18

Ina Sarda lype fall, lhe widih Bof the rapezoida!
cras! is given by

fal B=044vH+d
{t) B=0.44/H-d
(cl) B=055JH+d

©) B=055/H-d
where H = depthof waler
d = drop in bed leve!

The type of irrigation module, which is usually
considerad as the bestin our country, is

{a) Adjustable orifice semi module

{8} Punjab openllume oullsl

{¢} Khanna's rigid module

{d) Kennedy's gaugs module

Anirrigation outlet 1s said lo be proportional, when
ils

QOutiel iﬁdex

(@) Setig = Ghannelindex
(b} Setting = Channal index x Oullet index

Channal index
QCutlel index

(d) Noneal the above

{c} Seftng=

Afrapezoidal netch fall can maintain normal water
depihin the upstreamchannel

{a) alanyonegivenvalue of designdischarge.
{p) atall the discharge,

{c) atany two values of design discharge.,

(¢) atnodischarge atall,

Q.20

Q.21

Q.22

Q.23

Q.24

The besl energy dissipation on the down stream
of a canal drop i5 causedin

(a) Glacisiall {b} Montague fall

{c} Ogeefall {d) Sarda type fall

The hydraulic jump that develops on a sioping
glacis, as compared lo thal on a harizontal floo
is always .
{3} mare definite, more elficienl,

{b) less delinite, less efficient.

{c) less definite, more elficient.

(d) less definite, less efficiency.

If the sensilivity of an irigation moduls is %

then 50% varialionincanal waler depth willcause
varialion in oullel discharge of

(a) 100% {b) 50%
{c) 25% {d) 75%
A meler fall of 1.8 mheightis o be construcied

on a canal carrying a discharge of 50 cumecs,
The typa of {all thal you may recommend will be
(3} Glacislat {b) Montage fall

{c) Inglis {all {d) None otthe above

The only irigation semi module, through which

"the discharge Is not propertianal to i . where

His the head causing ftow through the module
is )

{2} Kennedy's gauge outlet.

b} Cpen flume oullelL

{cy Free pipeoutiel.

{d} Adjustable orilice semi module.



Canal ftegulation Work

1.{g) 2.{b} 3. (d)
11, {dy 12. [¢) 13. (b}

4. (d)
14, (6

21, (b} 22, {c) 23.{c) 24.(b)

Canal Regulation Work

7.

(e}

. Canal escapes are the safely valves of canal

12

and must be provided al ragular intervals
depending upon theimportance of the canal and
- availabifity of sultable drainage. Minimum
capacity of escape is generally kept as hall o}
{tha channel capacily at the point of escape.
{c}
A good irigation module should fit welt lo the
decided principles of water diskribution. it should
be simple and cheap. Ut should draw its falr
share of sill.

13.

14.

5.{c) 6(f 7.{c) B.() 4 () 10.{d)
15. (¢} 186. {c)

17.{a) 18.(a) 19. (¢) 20. (b}

(b}

Sensilivily is defined as the ratio.of the rate of
changa of discharge through the oullet to the
rate of change of water level of ihe distributary,
refetred to the narmal depth of Ihe channel,

(d)

Rigid modules or modular gullets are those
through which the discharge is conslant and
fixad within limits [rrespactive of the fluctuations
of the waler levals of either the distributary or
of the valer course or of both.

~ Sensilivily = 0, and Flexihility =,0.



